
General Instructions to candidates:

• There is 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs.
• You are neither allowed to write your answers nor to discuss anything with others during the 'cool off time'.
• Use the 'cool off time' to get familiar with questions and to plan your answers.
• Read the questions carefully before answering
• All questions are compulsory and only internal choice is allowed.
• When you select a question, all the sub-questions must be answered from the same question itself.
• Calculations, figures and graphs should be shown in the answer sheet itself.
• Malayalam version of the questions is also provided.
• Give equations wherever necessary
• Only nonprogrammable calculators are allowed in the Examination Hall.

s]mXp-\n¿t±-i-ßƒ

• \n¿±njvS ka-b-Øn\v ]pdw 15 an\n´v "Iqƒ Hm^v ssSw' D≠m-bn-cn-°pw. Cu ka-bØv tNmZy-ßƒ°v
DØcw Fgp-Xmt\m, a‰p-≈-cp-ambn Bibw hn\n-abw \S-tØmt\m ]mSn-√.

• DØ-c-ßƒ Fgp-Xp-∂-Xn\v apºv tNmZy-ßƒ {i≤m-]q¿∆w hmbn-°-Ww.

• F√m tNmZy-ßƒ°pw DØcw Fgp-X-Ww.

• Hcp tNmZy-\-º¿ DØ-c-sa-gp-Xm≥ sXsc-s™-SpØv Ign-™m¬ D]-tNm-Zy-ßfpw AtX tNmZy-\-º-
cn¬ \n∂v Xs∂ sXsc-s™-Sp-t°-≠-Xm-Wv.

• IW°v Iq´-ep-Iƒ, Nn{X-ßƒ, {Km^p-Iƒ, F∂nh DØ-c-t]-∏-dn¬Øs∂ D≠m-bn-cn-°-Ww.

• Bh-iy-ap≈ ÿeØv ka-hm-Iy-ßƒ sImSp-°Ww

• tNmZy-ßƒ ae-bm-f-Ønepw \¬In-bn-´p-≠v.

• t{]m{Km-ap-Iƒ sNøm-\m-ImØ Im¬°p-te-‰-dp-Iƒ am{Xta ]co-£m-lm-fn¬ D]-tbm-Kn-°m≥ ]mSp-

≈q.

1. When a business purchases plant and

machinery, this is an example of

a) Revenue Expenditure

b) Revenue spending

c) Capital Expenditure

d) Cash Expenditure (1)

2. Which of the following cannot be a

cause for debiting bank account.

a) Cheques deposited for collection

b) Cheque sent to bank dishonoured

c) Paid into bank

d) Cheque given to suppliers

dishonoured (1)

1. Hcp _nkn-\kv πm‚ v B‚ v sajn-\-dn-°mbn

Nne-hn-Sp∂ XpI GXns‚ DZm-l-c-W-am-Wv.

a) Revenue Expenditure
b) Revenue spending
c) Capital Expenditure
d) Cash Expenditure (1)

2. Xmsg X∂n-cn-°p-∂-h-bn¬ _m¶v A°u-
≠ns\ U_n‰v sNøm-Xn-cn-°p-∂-Xn-\p≈ Hcp
Imc-Ww GsX∂v kqNn-∏n-°p-I.

a) Cheques deposited for collection
b) Cheque sent to bank dishonoured
c) Paid into bank
d) Cheque given to suppliers dishonoured

(1)
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3. Which among the following is not an

element of computer system.

(a) Hardware (b) Software

(c) People (d) Malware (1)

4. Withdrawal by proprietor would

a) Reduces both assets and owners

equity

b) Reduces assets and increases

liabilities

c) Have no effect on the Balance sheet

d) Reduces owners equity and

increases assets (1)

5. In every business we find some assets

gets exhausted and soon realised into

cash. Can you identify the type of asset

reffered to the above statement? List out

a few instances of such assets. (2)

6. Write the 'Entity' and 'attributes' in the

box given below, after considering the

following statement.

Statement: "Gokul an accountant, with

ID-20105 whose basic pay is Rs. 25,000".

(2)

Entity

Attributes

7. Write the name of correct computer

components in the boxes with question

marks. (2)

3. Xmsg X∂n-cn-°p-∂-h-bn¬ Iºyq-´¿ knÃ-

Øns‚ LSIw A√m-ØXv GXv.

(a) Hardware (b) Software

(c) People (d) Malware (1)

4. DS-a-ÿ≥ _nkn-\-�n¬ \n∂pw XpI ]n≥h-

en-°p-∂-Xv.

a) Reduces both assets and owners equity

b) Reduces assets and increases liabilities

c) Have no effect on the Balance sheet

d) Reduces owners equity and increases
assets (1)

5. GXv _nkn-\-�nepw Nne BkvXn-Iƒ

Iymjmbpw Xncn®pw cq]m-¥-c-s∏-Sp-∂p≠v.

Cu {]ÿm-h-\-bp-ambn _‘-s∏´ BkvXn

GXv Xc-Øn-ep-≈-Xm-sW∂v Is≠-Øp-I.

AØ-c-Øn-ep≈ Bÿn-Iƒ°v Nne DZm-l-

c-Wßƒ \¬Ip-I. (2)

6. X∂n-cn -°p∂ {]kvXm-h-\-I-fn¬ \n∂v

A\p_-‘-ambn sImSp -Øn -cn -°p∂

t_mIvkn¬ "F‚n-‰n-bpw', "B{Sn-_yq-́ p-Ifpw'

Fgp-Xp-I.

tÃ‰vsa‚ v : tKmIp¬ Hcp A°u-≠‚ v

BWv. Abm-fpsS  ID-20105 Dw ASn-ÿm\

iºfw 25000 cq]-bp-am-Wv. (2)

7. tNmZy Nn”w tcJ-s∏-Sp-Ønb t_mIvkp-I-

fn¬ Iºyq-´-dns‚ `mK-ßƒ icn-bmbn Fgp-

Xp-I. (2)

Secondary Storage Unit

Memory Unit

Input Unit

? ?

? ?

?→ →→
→
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8. Biju decides to computerise his

accounts department by sourcing an

accounting software. Give any 4

considerations before taking such a

decision. (2)

9. Malu purchased furniture from global

traders for cash Rs. 5,000.

a) Name the subsidiary book the

above transaction will be recorded.

(1)

b) If the furniture purchased above, is

on credit. Identify the subsidiary

book in which the transaction will

be recorded? (1)

10. Arrange the following under

appropriate heads in the table given

below. (3)

8. _nPp Hcp A°u-≠nßv tkm^v‰v shb¿

D]-tbm-Kn®v Xs‚ A°u≠vkv hn`mKw

Iºyq-́ ¿h¬°-cn-°m≥ Xocp-am-\n-°p-∂p. Cu

tkm^v‰vshb¿ kzoI-cn-°p-∂-Xn\v apºv

\¬tI≠ GsX-¶nepw 4 ]cn-K-W-\-Iƒ Fgp-

Xp-I. (2)

9. amfp ]Ww \¬In t•m_¬ t{StU¿kn¬

\n∂v 5,000 cq]bv°v ^¿Wo-®¿ hmßp-∂p.

F) GXv k_vknUnbdn ]pkvX-I-Øn-

emWv apI-fn¬ ]d™ hn\n-abw tcJ-

s∏-Sp-Øp-I. (1)

_n) apI-fn¬ ]d-™n-cn-°p∂ ̂ ¿Wo-®¿ IS-

am-bn -´mWv hmßn-b-sX-¶n¬, GXv

k_vkn-Un-bdn ]pkvX-I-Øn-emWv

ssIam‰w tcJ-s∏-Sp-ØpI F∂v Xncn-

®-dn-bp-I. (1)

10. A\p-tbm-Py-amb Xe-s°-́ p-I-fn¬ X∂n-cn-°p-

∂-hsb ]´n-I-bn¬ {Iao-I-cn-°p-I. (3)

MS Access components Data Types Common controls

•

•

(3)

Forms, Combo box, Text, Textbox, Tables, Number

11. Vivek started business with the

following assets.

11. hnthIv Xmsg X∂n-cn-°p∂ Bÿn-Iƒ D]-

tbm-Kn®v Hcp _nkn-\kv Bcw-`n-°p-∂p.

Cash - Rs. 10,000

Stock - Rs. 15,000

Plant - Rs. 18,000

Bank loan - Rs. 5,000

a) Give a journal entry to record the

above. (2)

b) Show how accounting equation is

satisfied. (1)

F) apI-fn¬ ]d-™-Xn\v Hcp tP¿W¬

F≥{Sn \¬IpI? (2)

_n) A°u-≠nßv ka-hmIyw Xr]vXn-s∏-Sp-

∂Xv Fßn-s\sb∂v ImWn-°p-I. (1)
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12. Manu who maintains no perfect system

of accounting. His transactions for the

month of January, 2014 is as follows.

01.01.2014 31.01.2014

Cash 1,000 2,000

Debtors 3,000 7,000

Creditors 4,000 5,000

Stock 7,000 14,000

12. a\p {]tXy-In®v Hcp A°u-≠nßv knÃhpw

]n≥Xp-S-cp-∂n-√. 2014 P\p-hcn amk-Ønse

Ah-cpsS ssIam‰w X∂n-cn-°p-∂p.

His drawings during the month was Rs.

6,000/-

a) How much is the profit/loss for the

month of January 2014. (2)

b) Identify the system of accounting

that you have employed in

ascertaining the profit. (1)

13. Some expenses are included in the

trading account while some others in the

profit and loss account. Why it is so?

Explain with example. (3)

14. From the following particulars of Mr.

Rajeevan, prepare a Bank

Reconciliation statement as on

31.03.2014.

Balance as per cash book Rs. 40,000.

a) Divident collected by bank Rs. 3,000.

b) Bank charges debited in the pass

book Rs. 700.

c) Cheque deposited but not collected

Rs. 7,000.

d) Cheque issued but not presented for

payment Rs. 5,000. (4)

Abm-fpsS B amksØ t{Umbnßvkv 6,000

cq]-bm-Wv.

F) P\p-hcn 2014 amk-Ønse em`/\jvSw

F{X-sb∂v Is≠-Øp-I. (2)

_n)em`w Is≠-Øp-∂-Xn\v A\p-h¿Øn®

A°u-≠nßv knÃw GsX∂v Xncn-®-

dn-bp-I. (1)

13. Nne Nne-hp-Iƒ t{SUnßv A°u-≠nepw a‰p

NneXv t{]m^n‰v B‚ v temkv A°u-

≠nepw Dƒs∏-SpØpw. F¥psIm≠m-WnXv?

DZm-l-c-W -k-lnXw hni-Zo-I-cn-°p-I. (3)

14. 31.03.2014 ¬, cmPo-hs‚ ]pkvX-I-Øn¬

\n∂pw \¬In-bn-´p≈ hnh-c-ß-fpsS ASn-

ÿm-\-Øn¬ _m¶v doI¨kn-en-tb-j≥

tÃ‰vsa‚ v Xbm-dm-°p-I.

Iymjv _p°v A\p-k-cn-®p≈ _me≥kv jo‰v

40,000 cq]

F) _m¶v Unhn-U‚ v 3000 cq] kzcq-]n-°p-

∂p.

_n)_m¶v Nm¿÷kv 700 cq] U_n‰v

sNbvXn-´p-≠v.

kn)7000 cq]-bpsS sN°v \nt£-]n-®p,

]s£ If-£\v \¬In-bn-´n√.

Un)5000 cq]-bpsS sN°v Cjyq sNbvXp

]s£ CXp-hsc _m¶n¬ {]k‚ v

sNbvXn-√. (4)
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15. Which principle of accounting are used

for recording the following business

events. You can also suggest your views

if any basic principles are violated.

a) 10% provision for bad debts to be

created based on the previous

experience.

b) Tuition fee paid for proprietor's son

was not of business cash but

accounted as revenue expenditure.

c) The validity of transactions are

ensured by source documents for

recording.

d) Goods sold on credit on 01.01.2014

has been delivered to customer on

07.01.2014. The payment on it

received on 07.02.2014. This was

recorded in the books on 07.01.2014.

(4)

15. Xmsg X∂n-cn-°p∂ _nkn-\kv kw`-h-ßƒ

GXv A°u-≠nßv XØz-{]-Im-c-amWv tcJ-

s∏-Sp-Øn-bn-cn-°p-∂Xv F∂v Fgp-Xp-I. ASn-

ÿm\ XØz-ßƒ ewLn-®n-´p-s≠-¶n¬,

AXn≥ta¬ \nß-fpsS Imgv®-∏mSv hy‡-am-

°p-I.

F) Ign™ Ime A\p-`-h-ß-fpsS shfn-®-

Øn¬ s{]mhn -j≥ t^m¿ _mUv

sU_v‰vkv 10% {Intb‰v sNø-Ww.

_n)DS-a-ÿs‚ aIs‚ Syqj≥ ̂ o _nkn-\-

�nse Iymjv D]-tbm-Kn-®√ \¬In-b-

Xv. ]s£ AXv dh\yp Nne-hmbn

A°u≠v sNbvXp.

kn)hn\n-a-b-ßƒ tcJ-s∏-Sp-Øp-∂-Xn\v Ah-

bpsS km[pX tkmgvkv tUmIyp-sa‚p-

I-fm¬ Dd∏p hcp-tØ-≠-Xm-Wv.

Un)km[-\-ßƒ 01.01.2014 \v IS-ambn hn‰Xv

07.01.2014 \mWv D]-t`m-‡mhn\v FØn-

®-Xv. AXn≥ ta¬ ]Ww In´n -bXv

07.02.2014\v BWv. ]s£, 07.01.2014 \v

Xs∂ Cu hn\n-abw ]pkvX-I-Øn¬

tcJ-s∏-Sp-Øn. (4)

16. Prepare a cash book with suitable columns.

A\p-tbm-Py-amb tImf-ß-tfmSp IqSnb Hcp Iymjv _p°v Xbm-dm-°p-I.

2014 April 1 Opening Balance

Cash  - 3,000

Bank  - 7,000

April 2 The amount collected from cash sales put into the bank 14,000.

April 3 Bank charges Rs. 700.

April 4 Interest debited in the pass book Rs. 3,000.

April 5 Rent debited in the pass book Rs. 400.

April 6 Wages paid Rs. 500.

April 7 A cheque received from Sajeev given to bank for collection Rs. 4,500.

April 8 Bank has intimated the dishonour of cheques of Rs. 4,500 and Rs. 50

has been charged for dishonour. (4)
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17. Mathew purchased a motor van on

01.04.2010 for Rs. 3,00,000. He made

some additional fittings to the motor

van costing Rs. 50,000. Depreciation is

provided @ 10% p.a. Prepare machinery

account for 4 years assuming that books

are closed on 31st March every year,

under written down value method. (4)

18. Fill up the blanks suitable to the bill

transactions. (5)

17. amXyp 01.04.2010 \v 3,00,000 cq]°v Hcp tamt´m¿

hm≥ hmßp-∂p. 50,000 cq]-bpsS A[nI ̂ n‰n-

ßp-Iƒ tamt´m¿ hm\n¬ \S-Øp-∂p. aqey-

£bw h¿j-Øn¬ 10% IW-°m-°-Ww.

A°u-≠p-Iƒ am¿®v 31\v t¢mkv sNøp-∂p.

dn´¨ Uu¨ hmeyp coXn-bn¬ 4 h¿j-tØ-

bv°p≈ sajn-\dn A°u≠v Xbm-dm-°p-I.

(4)

18. _n¬ hn\n-a-b-ß-fpsS hn´p-t]mb ̀ mKw ]qcn-

∏n-°p-I. (5)

19. Observe the following journal entries with narrations given in brackets.

Xmsg \¬In-bn-´p≈ tP¿W¬ F≥{Sn-Ifpw A\p-_‘ hnh-c-ßfpw ho£n-°p-I.

Transaction In the books of Debited Credited

a) Sold goods to Ramesh Drawer Ramesh ?

b) Ramesh accepts the bill and Drawee ? Bills Payable
sent to Krishna.

c) Krishna discounts the bill. Drawer ? Bills Receivable

d) On maturity date, the bill
has been dishonoured. Drawee Bills payable ?

a) Purchases A/c Dr 4,000

Saleem 4,000

(Purchased goods from Saleema)

b) Drawings A/c Dr 6,000

Sales 6,000

(Goods worth Rs. 4,000 drawn for private use)

c) Building A/c Dr 3,000

Cash 3,000

(Minor repairs to building costing Rs. 3,000)

d) Capital A/c Dr 1,000

Purchases 1,000

(Goods drawn for private use)

a) Give rectification entries for the above incorrect entries. (4)

F) apI-fnse sX‰mb tP¿W¬ F≥{Sn-Iƒ°v Xncp-Ø¬ F≥{Sn \¬Ip-I.

b) Which ones among them causes error of principle.

_n)Cu F≥{Sn-I-fn¬ XØz-]-c-amb sX‰p-Iƒ GsXm-s°-sb∂v Is≠-Øp-I. (1)
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20. From the following ledger balances of

Mr. Madhu, ascertain the results of his

business for the year ending 31st March

2014. Also prepare a  a balancesheet  on

the above date.

Rs. Rs.

Capital 50,000 Salary 5,500

Purchases 15,000 Commission (Cr) 2,000

Sales 30,000 Insurance 700

Opening stock 400 Bank loan 10% 8,000

Debtors 12,000 Creditors 10,000

Trading Expenses 1,000 Cash in hand 10,000

Wages 500 Buildings 40,000

Bad debts 1,000 Copy right 10,300

Furniture 3000

Interest (Dr) 600

Adjustments:

1. Closing stock is valued at Rs. 3,000.

2. Insurance is prepaid to the extend of Rs. 250.

3. Bank loan was taken on 01.04.2013.

4. Create provision for doubtful debts @ 5% on debtors.

5. Further bad debts Rs. 200.

(8)

20. Xmsg sImSp -Øn -cn -°p∂ seUvP¿

_me≥kp-Iƒ D]-tbm-Kn-®p-sIm≠v {io. a[p

F∂-bm-fpsS _nkn-\-kn-s‚, 2014 am¿®v 31

\v Ah-km-\n® h¿j-Ønse {]h¿Ø\

^ew IW-°m-°p-I. 2014 am¿®v 31 se

_me≥kv jo‰pw Xbm-dm-°p-I.
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1. Capital expenditure - 'c' 1 1

2. Cheque sent to bank dishonoured - 'b' 1 1

3. Malware - 'd' 1 1

4. Reduces both assets and owners equity - 'a' 1 1

5. Current Asset 1

Eg: Stock, Debtors 1 2

6. Entity - Employees

Attributes 1. ID

2. Name

3. Designation

4. Basic pay 2 2

7. 1. Input 2. Output 3. ALU 4. Control Unit 5. Output 2 2

8. 1. Flexibility 2. Cost of installation 3. Size of organisation

4. Utility services etc. ½ x 4 = 2 2

9. a - Cash book 1

b - Journal proper 1 2

10. MS - Access → Tables, Forms ½ x 2 = 1

Data types → Text, Numbers ½ x 2 = 1

Common Control → List box, Text box etc. ½ x 2 = 1 3

11. a) Cash A/c Dr 10,000

Stock A/c Dr 15,000

Plant A/c Dr 18,000 2

Creditors A/c 5,000

Capital A/c 38,000

b) Cash + Stock + Plant = Crs + Capital

(10,000 + 15,000 + 18,000 = 5,000 + 38,000) = 43,000 1 3

12 a) Profit - Rs. 17,000 2

b) Single entry system 1 3

13 Expenses which are directly involved with manufacturing

or purchases - Direct expenses Eg: Wages, Carriage inward 1 ½

Expenses which are attributable to sales and distribution

as well as administration → Indirect expenses Eg: Salary 1 ½ 3

14 Balance as per pass book - Rs. 40,300 4 4

15 a - Conservation principle 1

b - Entity concept 1

c - Verifiable concept 1

d - Realisation 1 4

 Qn. Sub Value points Score Total

No. Qns

Answer Key
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 Qn. Sub Value points Score Total

No. Qns

16. Cash balance - Rs. 2,500 2

Bank balance - Rs. Rs. 16,850 2 4

17. Depreciation - Ist year - 35,000 1

2nd year - 31,500 1

3rd year - 28,350 1

4th year - 25,515 1 4

Balance outstanding on 4th year - 2,29,635

18. a - Sales A/c 1

b - Krishna A/c 1

c - Bank A/c Dr 2

     Discount A/c Dr

d - Bank A/c 1 5

19. I a. Salim A/c Dr 4,000

Saleema A/c 4,000 1

b. Sales A/c Dr 6,000

Purchases 4,000

Drawings 2,000 1

c. Repairs A/c Dr 3,000

Building 3,000 1

d. Drawings A/c Dr 1,000

Capital 1,000 1 5

II Building wrongly debited - c 1

20. Gross Profit - Rs. 17,100 3

Net Profit - Rs. 9,560 3

Balance Total - Rs. 77,760 2 8



1. A 'ready to use' accounting software is

usually suitable to ______ business.

a) Small b) Medium

c) Large d) All of the above (1)

2. "A trial balance prepared with

arithematical accuracy is perfect in

every sense". How do you react to this

statement? (1)

1. "sdUn Sp bqkv' A°u-≠nßv tkm^v‰v

shb¿ GXv _nkn-\-kn-emWv km[m-c-W-

bmbn A\p-tbm-Py-am-hp-∂-Xv.

a) Small b) Medium

c) Large d) All of the above (1)

2. "KWn-X-ß-fpsS IrXy-X-tbm-Sp-Iq-Snb Hcp
{Sb¬ _me≥kv F√m A¿∞-Ønepw ]cn-
]q¿Æ-am-bn-cn°pw' Cu {]kvXm-h-\-tbmSv
Fßns\ {]Xn-I-cn°pw? (1)

General Instructions to candidates:
• There is 'Cool off time' of 15 minutes in addition to the writing time of 2.30 hrs.
• You are neither allowed to write your answers nor to discuss anything with others during the 'cool off time'.
• Use the 'cool off time' to get familiar with questions and to plan your answers.
• Read the questions carefully before answering
• All questions are compulsory and only internal choice is allowed.
• When you select a question, all the sub-questions must be answered from the same question itself.
• Calculations, figures and graphs should be shown in the answer sheet itself.
• Malayalam version of the questions is also provided.
• Give equations wherever necessary
• Only nonprogrammable calculators are allowed in the Examination Hall.

s]mXp-\n¿t±-i-ßƒ

• \n¿±njvS ka-b-Øn\v ]pdw 15 an\n´v "Iqƒ Hm^v ssSw' D≠m-bn-cn-°pw. Cu ka-bØv tNmZy-ßƒ°v
DØcw Fgp-Xmt\m, a‰p-≈-cp-ambn Bibw hn\n-abw \S-tØmt\m ]mSn-√.

• DØ-c-ßƒ Fgp-Xp-∂-Xn\v apºv tNmZy-ßƒ {i≤m-]q¿∆w hmbn-°-Ww.

• F√m tNmZy-ßƒ°pw DØcw Fgp-X-Ww.

• Hcp tNmZy-\-º¿ DØ-c-sa-gp-Xm≥ sXsc-s™-SpØv Ign-™m¬ D]-tNm-Zy-ßfpw AtX tNmZy-\-º-
cn¬ \n∂v Xs∂ sXsc-s™-Sp-t°-≠-Xm-Wv.

• IW°v Iq´-ep-Iƒ, Nn{X-ßƒ, {Km^p-Iƒ, F∂nh DØ-c-t]-∏-dn¬Øs∂ D≠m-bn-cn-°-Ww.

• Bh-iy-ap≈ ÿeØv ka-hm-Iy-ßƒ sImSp-°Ww

• tNmZy-ßƒ ae-bm-f-Ønepw \¬In-bn-´p-≠v.

• t{]m{Km-ap-Iƒ sNøm-\m-ImØ Im¬°p-te-‰-dp-Iƒ am{Xta ]co-£m-lm-fn¬ D]-tbm-Kn-°m≥ ]mSp≈q.
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3. Choose the correct sequence of data

processing cycle. (1)

3. Um‰m t{]mk-�n-ßns‚ icn-bmb t{iWn

Xmsg sImSp-Øn-cn-°p-∂-h-bn¬ \n∂v sXc-

s™-Sp-°p-I. (1)

a) Source document → Input → Storage → Processing → Output

b) Source document → Storage → Processing → Input → Output

c) Output → Storage → Processing → Source document → Input

d) Storage → Processing → Input → Source document → Output

4. MS Access is an example for

a) Data Base Management System

b) Management Information System

c) Accounting Information System

d) Double Entry Accounting System  (1)

5. A sum of Rs. 10,000 received for

commission for the upcoming year.

How would you treat this item in the

final accounts.

4. Fw.F-kv. BIvk�v GXn\v DZm-l-c-W-

amWv?

a) Data Base Management System
b) Management Information System
c) Accounting Information System
d) Double Entry Accounting System (1)

5. 10,000 cq] hcp∂ h¿j-tØ°v IΩo-j≥

e`n-®p. CXv ss^\¬ A°u-≠n¬ Fßn-

s\-bmWv {So‰v sNøpI?

6. Write any four capabilities of a

computer. (2)

7. Classify the following assets under

appropriate heads.

a. Quarries and Mines

b. Plant and Machinery

c. Patents

d. Building

e. Goodwill

f. Copy right

g. Cash

h. Stock (2)

6. Iºyq-´-dns‚ GsX-¶nepw \mev tijn-Iƒ

Fgp-Xp-I. (2)

7. X∂n-cn-°p∂ BkvXn-Isf A\p-tbm-Py-amb

Xe-s°-´n-em-°p-I.

a. Quarries and Mines

b. Plant and Machinery

c. Patents

d. Building

e. Goodwill

f. Copy right

g. Cash

h. Stock (2)

a) Deduct this sum from commission received and shown as an asset

b) Deduct this sum from commission received and shown as a liability

c) Credited to profit and loss a/c

d) Shown as a liability (1)
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8. Given below is the trading account of a

business man.

8. Hcp _nkn-\-kp-Im-cs‚ t{SUnwKv A°u≠v

X∂n-cn-°p-∂p.

Opening Stock 1,000 Sales 20,000

Purchases 10,000 Closing stock 2,000

Wages 3,000

Carriage inwards 500

Gross profit 7,500

22,000 22,000

Ascertain the cost of goods sold by

applying both equations. (3)

9. Some users of accounting information

is given below.

a) Government b) Bank

i) Identify the type of users and why

do they need accounting

information. (3)

ii) What qualities do they expect in the

accounting information provided?

(1)

10. Examples of revenue expenditure and

capital expenditure is given below. You

are required to

(a) Add one example each to the

following table. (2)

(b) Bring out any 3 differences between

the above two expenditures. (3)

tImÃv Hm^v KpUvkv tkmƒUv F{X-sb∂v

c≠v ka-hm-Iy-ßfpw {]tbm-Kn®v Is≠-

ØpI. (3)

9. A°u-≠ns‚ Nne D]-t`m-‡m-°sf Xmsg

X∂n-cn-°p-∂p.

a) Government b) Bank

i) GXp Xc-Øn-ep≈ D]-t`m-‡m-°-fm-

sW∂v  Xncn-®-dn-bp-I-bpw, F¥n-\mWv

Ah¿°v Cu hnh-c-ßƒ Bh-iy-ambn

hcp-∂Xv F∂v Fgp-Xp-I. (3)

ii) \¬Ip∂ A°u-≠nßv hnh-c-ß-fn¬

F¥v KpW-ta∑-bmWv Ah¿ {]Xo-£n-

°p-∂Xv F∂v ]d-bmtam? (1)

10. dh\yp FIvkvs]≥Un-®dnt‚bpw Iym]n-‰¬

FIvkvs]≥Un-®dnt‚bpw Nne DZm-l-c-W-

ßƒ X∂n-cn-°p-∂p. \nßƒ sNtø-≠-Xv.

F) B enÃn-te°v Hmtcm DZm-l-cWw

hoXw \¬Ip-I. (2)

_n)apI-fn¬ ]d -™n-cn -°p∂ c≠v

FIvkvs]≥Un-®-dp-Iƒ°pw 3 hyXymkw

\¬Ip-I. (3)

Revenue Expenditure:

1. Wages paid Rs. 200

2. ?

Capital Expenditure:

1. Building purchased for Rs. 1,00,000.

2. ?

Trading A/c for the year ended 31st March 2014



6

11. Identify the relevant principles

associated with the following

transactions.

a) Proprietors investment into

business as a liability.

b) Recording of transactions using

support documents.

c) Only those transactions which can

be expressed in  monetary terms.

d) Fixed assets are recorded at cost

price.

e) Providing provision for bad debts

or valuing stock at cost or market

value which ever is less. (5)

12. Some examples of errors are given.

Identify them. (5)

11. X∂n-cn-°p∂ hn\n-a-b-ßfpambn _‘-s∏´v

\n¬°p∂ XØz-ßƒ Xncn-®-dn-bp-I.

F) _nkn-\-�n¬ -D-S-aÿ≥ \S-Øp∂

\nt£-]sØ _m≤y-X-bmbn IW-°m-

°p-∂p.

_n) A\p-_‘ tcJ-I-fpsS ASn-ÿm-\-

Øn¬ hn\n-abw tcJ-s∏-SpØp∂p.

kn) ]W-]-c-ambn tcJ-s∏SpØm≥ Ign-bp∂

hn\n-a-bßƒ am{Xw ]cn-K-Wn-°p-∂p.

Un) ÿnc BkvXn-Iƒ hmßnb hne-bn¬

tcJ-s∏-Sp-Øp-∂p.

C) In´m-I-S-Øn\v s{]mhn-j≥ {Iotb‰v

sNøp-Itbm As√-¶n¬ tÃm°ns\

tImÃv As√-¶n¬ am¿°‰v hne-bn¬

GXmtWm Ipdhv AXn¬ hne \n¿W-

bn-°p-∂p. (5)

12. Nne sX‰p-I-fpsS DZm-l-c-Wßƒ \¬In-bn-

cn-°p-∂p. Ahsb Xncn®dn-bp-I. (5)

Examples of Errors Types of Errors

a) Furniture purchased is recorded as

purchases.

b) Total of purchases book not posted in

purchases account.

c) Purchases book was over cast by Rs.

300 at the same time sales book was

also over cast by Rs. 300.

d) Error of undercasting of sales book by

Rs. 500.

e) Cash account balance Rs. 3,166 was

posted to Trial Balance as Rs. 3,616.

a)

b)

c)

d)

e)
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13. Mr. Narayanan gives you the following

summary from his shop accounts for the

year 2013-14.

Cash Book Information:

Opening balance of cash Rs. 10,000

Wages paid Rs. 3,000

Cash purchases Rs. 4,000

Cash paid to suppliers Rs. 14,000

Cash sales Rs. 30,000

Salary paid Rs. 1,000

Other Information:

01.04.2013 31.03.2014

Stock 7,000 18,000

Debtors 10,000 15,000

Creditors 4,000 16,000

Fixtures 2,000 18,000

i) Prepare Trading and Profit and Loss

account for the year 2013 - 14. (4)

ii) Show his financial position on

31.03.2014. (2)

14. On 01.01.2013 sunrise Ltd purchased a

machinery for Rs. 50,000 on 30.06.2013,

addition was made to the machinery for

Rs. 20,000.  On 31.12.2013 the machinery

was sold for Rs. 75,000. Depreciation is

charged under straight line method @

10%.

a) Prepare machinery account for the

year. (5)

b) Ascertain the amount of profit if the

method of charging depreciation is

written down value method. (1)

13. 2013 ̨  14 h¿jsØ \mcm-b-Ws‚ tjm∏nse

A°u-≠p-I-fpsS kw{Klw Xmsg \¬In-

bn-cn-°p-∂p.

F) 2013 ˛ 14 h¿jsØ em` \jvS

A°u≠v Xbm-dm-°p-I. (4)

_n) 31.03.2014 se kmº-ØnI \ne ImWn-

°p-I. (2)

14. 01.01.2013 \v k¨ssdkv enan-‰Uv 50,000 cq]°v

Hcp sajn-\dn hmßp-∂p. 30.06.2013 ¬ 20,000

cq] hne-bp≈ sajn-\-dn-bpsS `mK-ßƒ

]gb sajn-\-dn-tbmSp Iq´n tN¿°p-∂p.

31.12.2013 ¬ 75,000 cq]bv°v sajn-\dn hn¬°p-

∂p. kvss{S‰v sse≥ coXn-bn¬ aqey-£bw

10% Nm¿Pv sNø-Ww.

F) B h¿j-tØ-°p≈ sajn -\dn

A°u≠v Xbm-dm-°p-I. (5)

_n) dn´¨ Uu¨ coXn-bn-emWv aqey-£bw

Nm¿Pv sNøp-∂-sX-¶n¬ em`w F{X-

sb∂v Is≠-Øp-I. (1)
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15. From the following particulars of Mr.

Anwar

a) Prepare a Bank Reconciliation

Statement. (5)

15. A≥h-dns‚ _p°nse Xmsg ]d-bp∂ hnh-

c-ßƒ D]-tbm-Kn®v

F) _m¶v doI¨kn-en-tb-j≥ tÃ‰vsa‚ v

Xbm-dm-°p-I. (5)

i) Balance as per cash book Rs. 50,000

ii) Bank charges debited in the passbook Rs. 1,500

iii) Direct deposit by a customer to the bank Rs. 12,500

iv) Insurance premium paid by bank Rs. 2,000

v) Cheque issued to Rahim not presented for payment Rs. 9,000

_n)Cu tNmZy-Øns‚ 5˛¬ {]Xn-]m-Zn-®n-cn-

°p∂ tIkn¬ GXv A°u-≠n-s\-

bmWv U_n‰v sNtø-≠-Xv. (1)

b) In third case above which account

is debited? (1)

a) Customer A/c b)   Bank A/c c)   Cash A/c d)  Deposit A/c

16. The following information is extracted

from A. Gomez, a sole trader dealing in

books and stationery items.

16. _p°v, tÃj-\dn CS-]m-Sp-Im-c-\mb F. tKma-

kns‚ ]pkvX-I-Øn¬ \n∂v Xmsg ]d-bp∂

hnh-c-ßƒ FSp-Øn-´p-≠v.

a) Prove that debit always equate with

credit. (4)

b) Name the statement you have

prepared to work the above

problem. (1)

c) Prepare the cash account from the

above. (2)

F) U_n-‰pw, {IUn‰pw Xpey-sa∂v sXfn-bn-

°p-I. (4)

_n)apI-fn¬ X∂ tNmZy-Øn-te°v \nßƒ

Xbm-dm -°nb tÃ‰vsa‚ ns‚ t]cv

\¬IpI. (1)

kn)apI-fn¬ ]d-™n-cn-°p∂ hnh-c-ß-fpsS

ASn-ÿm-\-Øn¬ Iymjv A°u≠v

Xbm-dm-°p-I. (2)

01.04.2014 Started business with Rs. 22,000

02.04.2014 Cash purchases Rs. 3,000

03.04.2014 Sold goods to Neha Rs. 5,000 costing Rs. 2,000.

04.04.2014 Payments made for:

Rent - Rs. 1,000

Salary - Rs. 2,000

05.04.2014 Purchased a computer worth Rs. 6,000

06.04.2014 Cash Sales Rs. 2,000 Costing Rs. 1,000
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17. tXma�v P\p-hcn 1, 2010\v Zmkn\v 30,000

cq]bv°v km[-\-ßƒ hn‰p. 3 amk-tØ°v

_n¬ Hm^v FIvkvtN©v Xbm-dm-°p-∂p.

_n¬ ]Ww \¬Im-\p≈ Imem-h-[n-bm-hp-

∂p.

F) Imem-h[n Znhkw GsX∂v Is≠-Øp-

I. (1)

_n)_n¬ hn\n-a-b-Øn¬ Dƒs∏-Sp∂ ]m¿´n-

Iƒ GsX-√m-sa∂v Fgp-Xp-I. (2)

kn)t{Umb¿, t{Umbo F∂n-h-cpsS ]pkvX-

I-Øn¬ tP¿W¬ F≥{Sn tcJ-s∏-Sp-

ØpI. (5)

18. (i) X∂n-cn-°p∂ Um‰ D]-tbm-Kn®v Bh-

iyamb k_vkn-Un-bdn ]pkvX-I-ßƒ

Xbm-dm-°p-I. (6)

17. Thomas sold goods for Rs. 30,000 on

credit to Das on Jan 1, 2010.

A Bill is prepared  for 3 months and it

was matured on due date.

a) Ascertain the date of maturity? (1)

b) Mention the parties involved in the

above bill transaction. (2)

c) Record necessary journal entries in

the books of drawee and drawer.

(5)

18. (i) Prepare necessary subsidiary

journals from the data given. (6)

01.04.2014 Purchases from Sundrarajan

5 sacks of rice @ Rs. 1,600 per sack.

5 sacks of sugar @ Rs. 3,000 per sack.

02.04.2014 Sold to Sajeev

2 sacks of rice @ Rs. 1,700 per sack.

3 sacks of sugar @ Rs. 3,200 per sack.

03.04.2014 Sold old furniture for Rs. 5,000 to Lalu on credit

03.04.2014 Purchases from Binu

10 sacks of red chilli @ Rs. 2,000 per sack

Trade discount @ 10%

(ii) In which type of subsidiary journal

we find contra entries? Explain? (2)

19. From the following Trial Balance

prepare Income statements and position

statement of Zaira. (8)

(ii) GXp Xc-Øn-ep≈ k_vkn-Un-bdn

tP¿W-en-emWv tIm¨{Sm F≥{Sn-Isf

ImWm≥ Ign-bpI? hni-Zo-I-cn-°p-I.

19. X∂n-cn-°p∂ {Sb¬ _me≥kn¬ \n∂v

sskd-bpsS C≥Iw tÃ‰vsa‚pw s]mkn-j≥

tÃ‰vsa‚pw Xbm-dm-°p-I. (8)
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Capital - 70,000

Purchases 20,000 -

Sales - 30,000

Debtors and creditors 15,000 10,000

Salary and wages 7,000 -

Carriage inwards 800 -

Postage and Telegram 200 -

Rent 2,500 -

Interest received 1,500

Building 15,000 -

Land 35,000 -

Cash at Bank 10,000 -

Bad debts 300 -

Provision for doubtful debts - 500

Cash in hand 200

Machinery 6,000

1,12,000 1,12,000

Adjustments

a. Closing stock is valued at Rs. 3,000.

b. Rent includes Rs. 500 for the next year.

c. Depreciate building and machinery @ 10%.

d. Further Bad debts Rs. 500.

e. Create a provision for doubtful debts @ 5% on debtors.

f. Bad debts which was written off was recovered Rs. 300.
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1. a - Small 1 1

2. No. Being arithematically perfect does not mean true and

fair view of accounts 1 1

3. a - Source document - Input - Storage - Processing - Output 1 1

4. a - Data Base Management System 1 1

5. b - deduct from Commission & Shown as a liability 1 1

6. Speed, Accuracy, Storage, Versatility 1 x ½ = 2 2

7. a. Fixed Assets - Plant and Machinery, Building

b. Current Assets - Stock, Cash

c. Intangible Asset - Patent, Goodwill, copy right

d. Wasting Asset - Quarries and Mines 1/4 x 8 = 2 2

8. Cost of goods sold = 12,500 1½x2 3

9. i) External users, for knowing the credit worthiness

   and financial position 3

ii) Relevance, Reliability, Understandability (Any 2) ½ x 2 = 1 4

10. a) For adding one example each 1 x 2 = 2

b) For giving 3 differences each 1 x 3 = 3 5

11. a) Business Entity b) Verifiable c) Money measurement

d) Historical cost e) Conservatism 1 x 5 = 5 5

12 a) Principle b) Omission c) Compensating d) Commission

e) Commission 1 x 5 = 5 5

13 Gross profit - Rs. 13,000 Net profit 10,000 and 2 x 2 = 4

Balance sheet Total 69,000 2 x 1 = 2 6

14 a) Profit on sale of machinery - Rs. 11,000 5 x 1 = 5

b) Same amount of profit as above 1 x 1 = 1 6

15 a) Balance as per pass book Rs. 68,000 5 x 1 = 5

b) Rahim A/c is debited 1 x 1 = 1 6

16 a) For preparing a correct accounting equation 4

b) Accounting equation 1

c) Cash A/c Balance Rs. 12,000 2 7

 Qn. Sub Value points Score Total

No. Qns

Answer Key
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 Qn. Sub Value points Score Total

No. Qns

17 a) March 4, 2010 1

b) Drawer - Thomas, Drawee - Das 2

    Payee - Thomas

c) Das A/c Dr 30,000 Purchases A/c Dr 30,000

Sales 30,000 Thomas 30,000

B/R A/c Dr 30,000 Thomas A/c Dr 30,000

Das A/c 30,000 B/P 30,000

Cash A/c Dr 30,000 B/P A/c Dr 30,000

B/R 30,000 Cash 30,000 5 8

18 1. Purchases book - Rs. 41,000 2

2. Sales Book - Rs. 1,30,000 2

3. Journal proper - Lalu A/c Dr 5,000

Furniture 5,000 2

ii) Contra entries are done in double or Tripple column 2 8

cash book, two aspects of transactions are posted

in the same books of accounts.

19 Gross Profit - Rs. 12,200 3

Net Profit - Rs. 1,675 3

Balance sheet Total - 81,675 2 8


